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· The above setup can be drawn

in a simplified version as follows
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· The gravitational force between the

mass 'M'd in causes the system of

GodI masses (both 'm') torotate which
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· For numerical value of 'K;88'lm's m

see next page



https://sciencedemonstrations.fas.harvard.edu/presentations/
cavendish-experiment

https://www.pasco.com/products/lab-apparatus/fundamental-constants/gravitational-torsion-balance
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in formula
= E & G . 3 x10m

· The above data can also be referred

in following link

· For the Equipment shown as a picture in

page'l' visit the following link


